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1 (1) 4a3y — 923 = 2y(4x? — 9y?) = zy(2z + 3y) (22 — 3y)

(2) 4z —1<8x—5 &b, 44z 22206, x 21 7R %,
¥/, 624+4>32+10 &Y, 3z >62R82300, £>28Rb, £oT, z218z>2
OHFEH T EEZL Tz >2 45,

(3) IEREM LD, i(:fA =2.6L72BDT, sin /A = ?ffp&, 0° < ZA < 180° TH 3
s

o, /A =60° 120° 2723,

(4) 2024 = 2% - 11-23 725, 2024n = 2v/2-11-23n £ R 3, &oT, BEEEALT n i3
n=2-11-23 =506 Th 3,

(5) E+=fARoNAERHRIE, 2 HRER-IRTO S B TRRWS DRDT, ZDAREUL 150212 =
66 —12=>54 X bh, 54 KTH 2,

(6) 110(2) X 111(2) = 101010(2)
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2 (1) Tz%(9+7+5+8+6):7

(2) B 8% = %((9—7)2+(7—7)2+(5—7)2+(8—7)2+(6—7)2) _ %(4+4+1+1) —9
YRBDT, EEREIZs =vV2=1414... TH 2, MNCE—LITHEIBAEALI-ME 1.4 B3R
D BEZTH B,

M3 (1) y=—-(2?-22)+2=—(2-1)2+3 &b, C, DHEMDOEEZ (1,3) TH 5,

(2) [ )

y=-2°—-8r—-3=—(x+4)2+ 13 2 R3DT, C, DIEHFADEEZ (—4,13) TH 5, &»

T, Cy DFF 7% x filFAC =5, y @A 10 I EIT8EIT2 L C, D5 712k 5.
(7) (1)




